DISCOUNT

FURNITURE

MYBOBS.COM

Assembly Instruction

Chair

Thank you for purchasing this quality product. Be sure to check all packing materials carefully for small parts which may have
come loose inside the carton during shipment. Identify and count all parts and compare with the parts list below.
**Assemble the product on a flat, soft surface such as a carpet or cloth to prevent scratching the finish. Read all instruction and

study the drawings carefully before starting the assembly process.

NO. HARDWARE LIST
a | @@® |5/16"x2-1/4" |Hex Head Bolt| 4pcs
b |Tm® | 5/16"x3" Hex Head Bolt| 4pcs
c | @@® |5/16"x1-1/2" |Hex Head Bolt| 2pcs
d | © 5/16" Lock Washer |10pcs
e | © 5/16"x19mm |Flat Washer [10pcs
f | = |[12mm Wrench 1pc

()

~.
-
P

&@(((

\\\\\\

Cleaning Instruction: Clean finished parts with a mild dishwashing liquid and water solution on a damp cloth. Polish the
finish with soft cloth and an industry recognized furniture polish.
Made in Vietnam




&WARNING: To avoid serious personal injury:

Carefully and strictly follow assembly instructions. Improper assembly of

furniture can result in structural failure, instability of the product, or tip-over.

Monitor and carefully control the assembly components. These include small
parts and hardware that may present a choking hazard to small children.
Bob's furniture should be assembled only by responsible adults and children

should not be involved inthe assembly process.

Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor furniture to wall. Proper use of the
wall mounting hardware can significantly reduce the potential for furniture

tip-over and crushing injuries.



	Blank Page

